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>>> s =0
>>> for 1 in range(10):
s += 1

>>> S
45

>>> sum(range (10))
45















A.Tl. Epwos. [1porpammupoBaHue —
BTOpagd rpaMoOTHOCTb

AHpgpén Metposuy Epwios (19 anpens 1931, Mocksa — 8 nekabps AHpgpen MNMetpoBuy Epwos
1988, TaM Xe) — COBETCKUI YYEHbIN, OAUH U3 MUOHEPOB
TEOPETUYECKOTO U CUCTEMHOIO NPOrpaMMUpPOBaHUA, co3gaTterb
Cubupckon wkonbl nHpopmatukn, akagemmk AH CCCP. Ero pabotbl
oKasanu orpoMHoe BNuAHWE Ha (POpPMUPOBAHKE U pa3BUTHE
BblYMCNUTENBHON TEXHUKU He Tonbko B CCCP, Ho 1 BO BCEM MUpe.

EpLioB — onH U3 NMOHEPOB POCCUNCKOM KOPMYCHOW NTUHIBUCTUKU; MO
ero uHMUmaTuBe Hayarn cosgasarbcs MalUVHHbINA GOHL PYCCKOro A3blka
npu NHctutyTte pycckoro a3bika AH CCCP.

Ha nyTu 3T0ro aKCnoHeHuuansHoro pasBuTuUs, NOACTErNMBAEMOrO CaMbIiMU Pa3sHOOOpa3HbIMKU hakTopamu,
BO3HMKAET, OAHaKO, OAHO NpUHLMNNanbHoOe npensaTcTeme. B HacTosiLee BpemMsi CocoGHOCTb YenoBeka K
nepeaade 3HaHU MalLMHe 6Ge3HaaeXXHo OTCTaeT OT CNocoBHOCTM co3aaTh 3Ty MalLMHY. Ecniv 3aTpaThl
06LLIECTBEHHOIO TPyAa Ha co3daHne MUKPONpPOLIECCOpa UCYUCTISIOTCS B YENOBEKO-4Yacax, To 3aTpaTtbl Ha
co3gaHune NporpaMMHOro obecnevyeHunst 4O CUX Nop BbIpaXkaloTcsl B YENOBEKO-MecsiLax, Aaxe ¢ y4eToMm
TUpaxnpoBaHus nporpamm. Jloructuyeckas kpmeas bappu boama, nokasbiBatoLlasi AMHaMUKY COOTHOLLEHMS
3aTpat Ha 0bopyaoBaHMe 1 NporpaMmbl NpU NPOEKTUPOBAHMM CUCTEMbI 06pPabOTKM MHGOPMaLMK, cTana
Gnarogaps 6ecymMcneHHbIM NOBTOPEHUSIM HACTOMNBKO NPUBLIYHOM, YTO YXKE HE BbI3bIBAET HUKAKOro
6ecnokoricTea. KoHeYHo, cneumanucTbl N0 NporpaMMMpoBaHnIO TPYASTCA BOBCHO, YTODObI caenath Tpya,
nporpammucta 6onee nponssogmTenbHbiM. OQHAKO Aaxe ecn Mbl MPUMEM TMMNOTE3Yy AeCATUKPATHOIO
yBENMUYEHMS NPOM3BOAUTENBHOCTM TPyAa NPV NPON3BOACTBE NPOrpamMM, afieMeHTapHbIE PacyeTbI
MOKa3bIBatoT, YTO AN1s1 TOro YToObI Yepes ABaALaTh NET 3anporpammMmMpoBaTh BCE NPOU3BOANMbIE
MUKPOMNPOLIECCOPbI, HAM Hago OyaeT nocaguTb 3a NPOrpaMMUPOBaHNE BCE B3POCIIOE HAceneHne 3eMHOro
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Peknama - www.skillbox.ru/ v 8 (495) 120-40-96
Kypc: Python-paspabotuuk - Ckugka 40% - skillbox.ru

Mony4yuTe BocTpeboBaHHyto npodeccuio Python-paspaborunkal Tpyaoycrpansaem 88%
ctyneHToB. [NepBble Tpyu mecsaua obyyenns becnnartHo. Haynute 3apabarbisats ot 80 000...

Peknama - www.brunoyam.com/ v 8 (812) 409-90-59

Kypcbl Python ¢ Hyns - Kypc Python B CI16

Kypchbl Python 3a 16900P Okynutbcs ¢ nepeow 3/n. lNomollb B TpyaAoyCTPOWCTBE.
3anucbiBanTecs! Kypcbl Python 3a 19900P Okynutbcs ¢ nepson 3/n. MNomouys B
Tpypoyctpovictee. 3soHute! 0+ pynnbl 5-10 yenosek. B CankTt-lNetepbypre.

Peknama - www.udemy.com/ ~

Yuutech B cobcTBEHHOM Temne - Kypcbl OHMaiH - udemy.com

Wccnepnyiite pasHoobpasHble akTyanbHbie TeMbl. bonbLuoii Beibop KypcoB. Beibupaiite us...

Peknama - www.productstar.ru/ ~

OnnanH-oby4yeHue 12+ - Kypc: Python, Bl n BigData

60 nekuuin n Bopkwwonos. lNomMous OT HacTaBHUKa U B TpygoycTponctee.12+ CraHeTe...



The Python Tutorial

Python is an easy to learn, powerful programming language. It has efficient high-level data structures and a
simple but effective approach to object-oriented programming. Python’s elegant syntax and dynamic typing,
together with its interpreted nature, make it an ideal language for scripting and rapid application development in
many areas on most platforms.

The Python interpreter and the extensive standard library are freely available in source or binary form for all
major platforms from the Python Web site, https://www.python.org/, and may be freely distributed. The same site
also contains distributions of and pointers to many free third party Python modules, programs and tools, and
additional documentation.

The Python interpreter is easily extended with new functions and data types implemented in C or C++ (or other
languages callable from C). Python is also suitable as an extension language for customizable applications.

This tutorial introduces the reader informally to the basic concepts and features of the Python language and
system. It helps to have a Python interpreter handy for hands-on experience, but all examples are self-contained,
so the tutorial can be read off-line as well.

For a description of standard objects and modules, see The Python Standard Library. The Python Language
Reference gives a more formal definition of the language. To write extensions in C or C++, read Extending and
Embedding the Python Interpreter and Python/C API Reference Manual. There are also several books covering
Python in depth.

This tutorial does not attempt to be comprehensive and cover every single feature, or even every commonly
used feature. Instead, it introduces many of Python’s most noteworthy features, and will give you a good idea of
the language’s flavor and style. After reading it, you will be able to read and write Python modules and programs,
and you will be ready to learn more about the various Python library modules described in The Python Standard
Library.

The Glossary is also worth going through.

¢ 1. Whetting Your Appetite
e 2. Using the Python Interpreter
o 2.1. Invoking the Interpreter
= 2.1.1. Argument Passing
= 2.1.2. Interactive Mode



Find, install and publish Python packages
with the Python Package Index

Search projects Q

Or browse projects

268,390 projects 2,147,833 releases 3,409,635 files 460,294 users
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0719 “VIHopMaLIMOHHbIE
CUCTEMbBI U TEXHOINOIMUN...”

NHOPMaLNOHHbIE CUCTEMbI B X Q

NH(OPMaALIMOHHbIE CUCTEMbI B 3KOHOMMUKE
NHOPMaLUOHHbIE CUCTEMLI B 0Opa3oBaHUU

NHOPMaLMOHHbIE CUCTEMbI B OU3HECe U NOrUCTUKe
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A MapIIPYTHI. 4 yXomur, Komnerr 1-i1 OYepenHOCTH,
HaYMHAsT 2-10 O9epenHocTs, 3aBepmaer cpoj
eMy HpHCOennHsIeTCs 1, 1 ., . lIBukenve te-

M. BBINIIE): 1,13, 134,1342,342,42
SO 0 2,21,214, 2143, 143,43
e 3, 3,821, 3214; 214, 14
SO 4/43,432,4321, 321, 21

o5 AR




Movements and Stages

Stage Series 1 Series 2 Series 3 Series 4

One |white| - - - |yellow]| - - - | blue - - - |red| - - -
Two |white|blue| - - |yellow|white| - - | blue |yellow| - - | red | blue - -
Three| white | blue | red - |yellow|white| red | - |Dblue |yellow|white| - | red |blue |yellow| -
Four |white | blue | red |yellow|yellow | white | red | blue | blue |yellow|white | red | red | blue |yellow | white
Five - | blue | red |yellow| - [|white|red |blue| - |yellow|white|red | - | Dblue |yellow|white
Six - - | red |yellow| - - red | blue| - - white| red | - - |yellow | white
The four series of six stages each produce a total of twenty-four Sourses

stages suggesting, as in Lessness, the measurement of time. | Course 1|AC |CB|BA |AD|DB|BC|CD|DA
According to the script each character was to be unique in a Course 2|BA|AD|DB |[BC|CD|DA]AC |CB
number of ways. Apart from the colour of the outfit, they were to course 3lcolpalacleelealaplpe e
be "[a]s alike in build as possible. Short and slight for preference

... Adolescents a possibility. Sex indifferent."['3] That said, each Course 4| DB [BC|CD|DA[AC|CB|BA |AD
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GO-Z';Z‘gle bash filetype:pdf X E Q

Q Bee &) KaptuHku () Bugeo Q KapTbl () HosocTu : Ewe HacTtpoiiku MHCTpYMEHTDI

Pesynisratos: npumepHo 5 880 000 (0,43 cek.)

ruvds.com » doc» bash v PDF

Bash-ckpunTtbl, pykoBoacTtso B 11 yactax - RU VDS
YcnewHbin 3anyck bash-ckpunta. BeiBog coobuienuit. [Ins BbiBoaa TeKCTa B KOHCONb Linux

npuMeHaeTca KoMmaHga echo. BOCﬂOﬂbSyeMCFI 3HaHWeMm 3Toro dl)aKTa

www.gnu.org » software » bash » manual » bash PDF

Bash Reference Manual - GNU.org

12 mag 2019 r. - Bash is the shell, or command language interpreter, for the gnu operating
system. The name is an acronym for the 'Bourne-Again SHell', a pun ...
aetop: C Ramey - Llutupyetcs: 34 - [Noxoxue cratbu

compscicenter.ru » techseminar2014_seminar_050314 ~ pDF

Jlekumns 3. Bash ckpuntbl

Bash nopnepxwusaet cnegytowme dannosbie Macku: * *.jpg — * 3ameHset nobyio
nocnenoBaTenbHOCTL CUMBOIOB. * lecture?.txt — ? 3ameHsieT oguH cumBon.

poplinux.ru > sites » default » files » Advanced-Bash-Scri... PDF

Advanced Bash-Scripting Guide - lNonynsapHbIn Linux

Advanced Bash-Scripting Guide. ckyccTBo nporpammMupoBaHns Ha si3blke cueHapueB
komaHaHou obonoyku. Bepcus 2.5 (15 dbespansa 2004). Astop: Mendel ...



https://www.gsoogle.com/advanced search

JononHuTenbHble
HacCTpOWKU

WckaTb Ha:

CrpaHa:

[ata obHoBneHws:
CaWt unun JomeH:
PacnonoxeHwue crnos:
BesonacHbIi nouck:

Popmar cainnos:

NpaBa Ha ucnonb3oBaHue:

no6om fAsbike

nobdas

nmobas

rae yrogHo Ha ctpaHuue

MokasbiBaTh BCe pesynkrarbl

nodon

lMouck cTpanuL Ha BbIDpaHHOM A3bIKe.

Mou1CK CTpaHuL, CO3AaHHbLIX B ONPeaeneHHoi CTpaHe.

MoucK CTpaHuL, KoTopble Bbinv co3aaHbl Unu 06HOBNEHbI B TeUeHue
YKa3aHHOrO BPEMEHW.

lNouck Ha onpefeneHHoM canTte (Hanpumep, wikipedia.org ) unu e
[IOMeHe (Hanpumep, .edu, .org unu . gov).

ounck No TEKCTY, 3aronoBKy U agpecy CTPaHuLL, a Takke Mo CCbiikam Ha
HUX.

Wcnonb3ayiite beaonacHbli NOUCK, YTOOb! M36aBUTLCA OT HENPUATHBLIX U
HENPUCTONHbLIX CATOB U KAPTUHOK B peaynbTatax noucka.

Mouck cTpanuy u haitnos onpeaeneHHoro hopmara.

lMownck cTpaHul, KOoTopble MOXHO BecnnaTHo UCNonb30BaTh,
pacnpocTpaHATb U UBSMEHATL.



> ah

Bugeo KapTuHkun

AHnekc

Q ¥ & @ m B

KapTbl MapkeT MepeBoa4mk My3bika Mporpamma ABTO.pYy ewe

Hantun

NckaTb OKYMEHTbI C onpeaeneHHbIM C/IOBOM

MO>XHO NCNONb30BaTb HECKONbKO ONepaTopoB + B OAHOM 3anpoce.

Onepatop CHHTaKCUC

CJIOBOj1 +CJIOBO)

UckaTb no uutarte

[Mpumep 3anpoca

[naneHKo +po3a +iueplLueHb (3]

ByayT HaaeHbl AOKYMEHTbI, B KOTOPbIX 0643aTeNbHO COAEPXKaTCA C/IOBa
«p03a» U «LLEPLLEHb» U MOXET MPUCYTCTBOBATH C/IOBO «/IaMeHKO».

IMonCK AOKYMEHTOB, COAEpKaLllMX CNoBa 3anpoca B 3aflaHHOM NocnefoBaTenbHOCTU U dopMe.

Onepatop CHHTaKCUC

"CJIOBO] CJIOBO?

Mpumep 3anpoca

["MponuTb Ha 3TO Aeno YncTyto soguuy” (2]

ciyoBoy"

ByayT HalioeHbl AOKYMEHTbI, COAepXXallye AaHHYIo LIUTaTy.



Yandex.Translate o
6@ @ Q

bot

Istart 50.57

Hi, guys!

I will translate all messages in this chat so that all people can
understand each other. &

Everybody, start by texting in your native language so | could
learn you better. &

You can always change settings of translation with /setmylang
& /tolang commands.

But | think my magic will figure everything out.

Feel free to report or suggest anything to
support@translate.yandex.ru. 20:52

\‘ f /setmylang 5057

Your language is English. Choose your own language. 5.1
———

e

Tenepb BaLl A3bIK Pycckuia

BoT nepeBoauT Ha cneaytoLme a3biku: Pycckuid, English.
BbibepuTe A3bIK ANA NepeBoja.




Q E | euersite BO3MOXHOCTH ¥ CToMMocTb Momolub

MasHan OHnaiiH-4aT

becnamamHsbIll OH/MAUH-Yam:
6yabme pAaoM
B HY)KHBIU MOMEHmM

ObLeHne B MecceHa)Kepax CTasio NpuBbIYKon. Mcnosb3yiTe 310 —
BOBJIeKanTe NoKynaTeaen B Nepenmnucky Ha canTe U yBesiMunBante
NpoAaxu Ha 25% v 6oiee.

100% 6e3 orpaHuUYeHUl

Mpunoxexnusa -~ BebnynbTt

AxHa Manoposa

Robpsin geHs! ECAM y BAC NOABATCA
BONPOCH, Bbl MOXETE YTOYHHTL HX Y M

Aol
3ppascreyiTe. Bu Bospema :) Kay uen
NLITIOCH 0POPMUTE 3aKa3, HO He

HAATH ONAATY C NOMOWBLIO AnaeK]
Aensri. 310 803IMOXHO?

A3, xoHeuHo! [INA 3TOr0 BaM HYXHO
86i6paTh Pazaen INEKTPOHHBIE ACHBIMW,
OH PRAOM € ONNATOR NO peKBNINTaM,

0, cnacubo, Bb 0veHs nomoran!

Hukonan
Onepartop

Obulaemca ¢ nomoulbto Cleversite ru

© >



9 roTtoea NnOMoub

— r_n
@ YnpaBnsaTb yMHbIM AOMOM > ._J%J Onpepenntb NEcHIo @ Y3HaTb, YTO Ha $OTO

BKMIOYMTh CKa3Ky Mourpatb MocTpouTb MapLIpyT

@ Bbi3BaTb Takcu @ HanTun Hy>XHOe MmecTo @ KynuTtb Ha bepy

MocMoTpuTe, YTO A ELUE YMELD




NHTepdenc MOXKHO
MEHATH...
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a=5 1926 W
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/send myplotl.png 51.55
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SIGN IN DOWNLOAD

@ UNREAL ENGINE NEWS ABOUT  INDUSTRIES LEARNING & SUPPORT COMMUNITY MARKETPLACE

UNREAL

ENGINE

Make something Unreal

Unreal Engine is the world’s most open and advanced real-time 3D creation tool. Continuously
evolving to serve not only its original purpose as a state-of-the-art game engine, today it gives
creators across industries the freedom and control to deliver cutting-edge content, interactive

experiences, and immersive virtual worlds.

GET STARTED NOW
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@ Spawn Transform
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LabVIEW

Tun

PaspaboTtuuk

OnepauyuoHHas
cucrema

MepBbIN BbINYCK

MocneaHsas
Bepcus

JlnueH3un

Caurt

[padpuyeckas cpena
pa3paboTKu NPUNoXXeHUi

National Instruments

Windows, Mac OS X, Linux
[1]

1986
2019 (mait 2019)

[MponpueTapHoe
nporpaMmMHoe
obecrneyeHue

ni.com/en-Ib/shop
/labvie... &

@ Mepguadainel Ha Bukucknage



https://forums.ni.com/t5/LabVIEW/generate-random-number-between
-10-and-110/td-p/3610420?profile.language=en




OyYHKUMA KaK YePHbIU ALLMK
MHKancynaums

WOLFRAM Products

FindFaces

FindFaces [ image]
attempts to find human faces in image and returns a list of bounding boxes.

FindFaces [ image, prop]
returns the specified property prop for each detected face.

FindFaces [ image, crit, prop]
finds faces that satisfy the criterion crit.






>>>
>>>
>>>
>>>
4.0
>>>
520
>>>

from math import hypot
from math import sqrt

sgrt (16)
hypot (3, 4)
sqrt (3 ** 2 + 4 **x 2)




#ifndef HAVE_HYPOT

3aCOpHeM 6M3HeC_ double hypot(double x, double y)

{

JTOTNKY double yx;

x = fabs(x);
y = fabs(y);
LF @ < y)
double temp = x;
X =Y,
y = temp;
}
il ek == 9.)
return 9.;
else {
yx = y/X;
return x*sqrt(l.+yx*yx);
}

}
#endif /* HAVE_HYPOT */
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Ponb [luToHa?

e llccnepoBaHus
e [lpoekTHasa neAaTenbLHOCTb
e JlabopartopHble paboThl

BbluncnutenbHas u
9KCMepuUMeHTarnbHaa MaTtemMaTumka
dun3uka

buonHmopmaTtuka

JInHremncTuka

Couunonorus



A TeEXHNYECKUUN CcTek?

e BO3MOXHOCTb paHbLLE NOroBOpPUTb NPO
apPXNTEKTYPY MHAOPMALMNOHHBLIX CUCTEM

e [exHonorny NnporpaMmmMmpoBaHnS

e ABTOMATU3ALUMUA



Code review



Project Euler

Archives Recent Progress Account News Friends Statistics Sign Out

About Project Euler
Where should I start?

That depends on your background. There are two tables containing problems. The Recent problems table lists
the ten most recently published problems, so if you are new to Project Euler then you may prefer to start with the
Archives to get a feel for the different types/difficulties of our problems. The first one-hundred or so problems
are generally considered to be easier than the problems which follow. In the archives table you will be able to see
how many people have solved each problem; as a general rule of thumb the more people that have solved it, the
easier it is. To assist further there is a difficulty rating system which may also help you decide where to start. You
are able to sort the problems in the archives table on ID, Solved By, or Difficulty.

I've written my program but should it take days to get to the answer?

Absolutely not! Each problem has been designed according to a “one-minute rule”, which means that although it



Problems Solved

1
11
21
31
41
51
61
71
81
91

301
311
321
331
341
351
361
371
381
391

2
12
22
32
42
52
62
72
82
92

302
312
322
332
342
352
362
372
382
392

3
13
23
33
43
53
63
73
83
93

303
313
323
333
343
353
363
373
383
393

4
14
24
34
44
54
64
74
84
94

304
314
324
334
344
354
364
374
384
394

5
15
25
35
45
55
65
75
85
95

305
315
325
335
345
355
365
35
385
395

6
16
26
36
46
56
66
76
86
96

306
316
326
336
346
356
366
376
386
396

7
1
27
37
47
57
67
[
87
97

307
317
327
337
347
357
367
377
387
397

8
18
28
38
48
58
68
78
88
98

308
318
328
338
348
358
368
378
388
398

9
19
29
39
49
59
69
79
89
99

309
319
329
339
349
359
369
379
389

10
20
30
40
50
60
70
80
90
100

310
320
330
340
350
360
370
380
390

399 400

101
111
121
131
141
151
161
171
181
191

401
411
421
431
441
451
461
471
481
491

102
112
122
132
142
152
162
172
182
192

103
113
123
133
143
153
163
173
183
193

402 403
412 413
422 423
432 433
442 443
452 453
462 463
472 473
482 483
492 493

104
114
124
134
144
154
164
174
184
194

105
115
125
135
145
155
165
175
185
195

106
116
126
136
146
156
166
176
186
196

107
117
127
137
147
157
167
177
187
197

108
118
128
138
148
158
168
178
188
198

109
119
129
139
149
159
169
179
189
199

110
120
130
140
150
160
170
180
190
200

404 405 406 407 408 409 410
414 415 416 417 418 419 420
424 425 426 427 428 429 430
434 435 436 437 438 439 440
444 445 446 447 448 449 450
454 455 456 457 458 459 460
464 465 466 467 468 469 470
474 A75 476 477 478 479 480
484 485 486 487 488 489 490
494 495 496 497 498 499 500

201
211
221
231
241
251
261
2l
281
291

501
511
521
531
541
551
561
571
581
591

202
212
222
232
242
252
262
212,
282
292

502
512
522
532
542
552
562
572
582
592

203
213
223
233
243
253
263
273
283
293

503
513
523
533
543
553
563
573
583
593

204
214
224
234
244
254
264
274
284
294

504
514
524
534
544
554
564
574
584
594

205
215
225
235
245
255
265
275
285
295

505
515
525
535
545
555
565
575
585
595

206
216
226
236
246
256
266
276
286
296

506
516
526
536
546
556
566
576
586
596

207
217
227
237
247
257
267
277
287
297,

507
517
527
537
547
557
567
577
587
597

208
218
228
238
248
258
268
278
288
298

508
518
528
538
548
558
568
578
588
598

209
219
229
239
249
259
269
279
289
299

509
519
529
539
549
559
569
579
589
599

210
220
230
240
250
260
270
280
290
300

510
520
530
540
550
560
570
580
590
600
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Multiples of 3 and 5

Problem 1 ¢
If we list all the natural numbers below 10 that are multiples of 3 or 5, we get 3,
5, 6 and 9. The sum of these multiples is 23.

Find the sum of all the multiples of 3 or 5 below 1000.

Answer: 233168
Completed on Fri, 7 Feb 2020, 17:46

Go to the thread for problem 1 in the forum.
Download overview for problem 1.



>>> sum(i for 1 in range(l, 1000) 1if 1 % 3 == or 1 % 5 == 0)
233168



Assembly

_yes:

no.:

7 for each integer from 1 to 1000

mowv

mowv
mowv

X0r
mowv

XOr
div

ecx,

esi,
edi,

ebx,
eax,

edx,
esi

test edx,
je _yes

mov eax,
Xor edx,
div edi
test edx,
jne no

add ebx,

inc ecx
cmp ecx,
jne O

3

3
5

ebx ; sum

ecx
edx

edx

eCXx

edx

edx

eCX

1000



o = 10063

eghe 1.3*{IRCI{(Sx=1)y/3)™*

(1AE) ( (Sx12)/3) + 2.5%(1fL) ((Sx—=1) /5)*
(int) ((S$Sx+4)/5) - 7.5*%(int)

( (Sx-1)/15)*(1AE) { (Sx+14)/15) §



RudyPenteado [E5 Assembly

‘Exactly! This was another one that I solved without code, also.

First of all, stop thinking on the number 1000 and turn your
attention to the number 990 instead. If you solve the problem
for 990 you just have to add 993, 995, 996 & 999 to it for
the final answer. This sum is (a)=3983

Count all the #s divisible by 3: From 3... to 990 there are
330 terms. The sum is 330(990+3)/2 (b)=163845

Count all the #s divisible by 5: From 5... to 990 there are
198 terms. The sum is 198(990+5)/2 (c)=98505

Now, the GCD (greatest common divisor) of 3 & 5 is 1 so the
LCM (least common multiple) should be 3x5 15.

This means every number that divides by 15 was counted twice
and it should be done only once. Because of this, you have an
extra set of numbers started with 15 all the way to 990 that
has to be removed from (b)&(c).

Then, from 15... to 990 there are 66 terms and the sum is
66(990+15)/2 (d)=33165

The answer for the problem is: (a)+(b)+(c)-(d) = 233168



Is there a way to simplify this further?

def multiples(n, t1, t2):
sum = ©

m=1

while(t1l*m < n):
sum += t1*m
m+=1

m=1
while(t2*m < n):
sum += t2*m

m+=1

m=1

while(t1*t2*m < n):
sum -= t2*t1*m
m+=1

return sum



Used a while loop in Python for this

three = 0
five = 0

mylist = []

while three < 1000:
mylist.append (three)
three = three + 3
if three > 1000:

break

while five < 1000:
if five not in mylist:
mylist.append (five)
five = five + 5
if five > 1000:
break

print (sum(mylist))




And since 1000 is our limit, we can further simplify it to:

il IR,

2

a X

This is the formula for getting the sum of the multiples of a less than 1000. It will be defined as the
function, L,. It can be seen that when summing up the multiples of 3, then 5, using the formula, then
there will be multiples of 15, the LCM of 3 and 5, below 1000 which will repeat only once. To eliminate
the repeat, we can subtract the multiples of 15 less than 1000. Our final formula is therefore:

L3 + Ls — L5
999 999
T = [l e
2
Python Hide Code

import math

def L(A):
return math.floor (999 / A) * (math.floor(9%% / A) + 1) / 2 * A

print L(3) + L(5) - L(15)



sum(set (range(3,1000,3)) | set (range(5,1000,5)))

u56 said

66

One short line in J:

A= (3%1:334),5%1:200
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the number of bits that are equal to one in the binary
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Example: The binary representation of 1234 is

10011010010 , so the function should return 5 in this case
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Details @ Solutions A Forks(8) % Discourse (164) (@ A m @ 40
» 9

A Narcissistic Number is a positive number which is the sum of its own digits, each raised to the power

of the number of digits in a given base. In this Kata, we will restrict ourselves to decimal (base 10).

For example, take 153 (3 digits):

123 + 53 + 33 =1 + 125 + 27 = 153

and 1634 (4 digits):

124 + 6”24 + 37 + 474 = 1 + 1296 + 81 + 256 = 1634

The Challenge:

Your code must return true or false depending upon whether the given number is a Narcissistic

number in base 10.

Error checking for text strings or other invalid inputs is not required, only valid positive non-zero

integers will be passed into the function.




*
javafreak, graf_vk, lakra, NssTheGreat, gyakov ‘ . ‘ m

def narcissistic(value):

return value == sum(int(x) ** len(str(value)) for x in str(value))

23 similar code variations are grouped with this one @ Show Variations

A BestPractices 301 A Clever 428 % 11 Fork ) Compare with your solution = Link

i shobhitpathak, Abhi_Scorp, IvanKochura

def narcissistic( value ):
value = str(value)
size = len(value)
sum = 0
for 1 in value:
sum += int(i) ** size

return sum == int(value)




module Narcissistic where

narcissistic :: Integral n => n -> Bool

narcissistic = flip elem [1, 2, 3, 4, 5

.9, 153, 370, 371, 407, 1634, 8208, 947




x N
ils @ Solutions A Forks(8) # Discourse ( ‘ . 4 v

Jaden Smith, the son of Will Smith, is the star of films such as The Karate Kid
(2010) and After Earth (2013). Jaden is also known for some of his philosophy
that he delivers via Twitter. When writing on Twitter, he is known for almost

always capitalizing every word. For simplicity, you'll have to capitalize each
word, check out how contractions are expected to be in the example below.

Your task is to convert strings to how they would be written by Jaden Smith. The

strings are actual quotes from Jaden Smith, but they are not capitalized in the
same way he originally typed them.

Example:

Not Jaden-Cased: "How can mirrors be real if our eyes aren't real”

Jaden-Cased: "How Can Mirrors Be Real If Our Eyes Aren't Real”




import string

def toJadenCase(NonJadenStrings):

return string.capwords(NonJadenStrings)

import string

toJadenCase = string.capwords




>f toJadenCase(string):

sentence = '
words = []
ste=Sskringisplit()
for 10 1n st:
il = list(i)
il[@] = il[@].uppexr()
words.append('"'.join(il))

return ' '.join(woxrds)




def toJadenCase(string):

'.join(x.capitalize() for x in string.split())

return




using System;
using System.Text;
public static class JadenCase

{

public static string ToJadenCase(this string phrase)

{
StringBuilder phraseNew=new StringBuilder();
phraseNew.Append(Char.ToUpper(phrase[0]));
for (int i = @; i < phrase.Length-1; i++)

{

char letter = phrase[i];

if (letter == ' ')
{
phraseNew.Append(Char.ToUpper(phrase[i + 1]));

b
else {

phraseNew.Append(phrase[i+1]);

}

return phraseNew.ToString();
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